
NAPLAN 2008 paper test answers

Year 5 Reading Numeracy

Language 

conventions

1 b a swimming

2 a d number

3 d b friends, friend

4 a d great

5 a a competed

6 d d popular

7 d b vanilla

8 b b muscle

9 c 1010 astronauts

10 a c opposite

11 a b shoulder

12 c d button

13 d 2.6 effects, effect

14 c c volume

15 d b millions

16 d c oxygen

17 a d properly

18 3,2,4,1 a since

19 b a lizard

20 a 6 climb

21 b d taste

22
*see note

below
a version

23 b a marathon

24 a c fitness

25 c c disappointed

26 d 10 a

27 b c b

28 d c d

29 d c a

30 c c a

31 d c c

32 a b c

33 a d b

34 b
first box=3

second box=5
d

35
*see note

below

first box=7 

second box=5

third box=6

c

36 C and H b a

37 b b

38 2.5km c
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39 b a

40 a d

41 d

42 d

43 b

44 b and c

45 a

46 d

47 c

48 b

49 c

50 a and c

*Q22 Response gives plausible reason for why the narrator may

have thought the goanna was a dinosaur: she was sleepy/

hallucinating/ she thinks it is from a movie/the size, colour 

or shape reminds her of a dinosaur.

*Q35 Response refers to one of the following: skull, head, cranium,

thick skull/head, bony skull/head, heavy skull/head.


